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Introduction :

A family budget can be defined as a finance design that assigns
prospect income the direction of expenses , saving & debt re-payment. A
family budget is a report which presents how family income is consumed
on different components of expenditure. It uses information about the
income of the family to prepare a family budget firms, governments,
individuals & other organizations. Use it to the precise strategic planning
of activities or events in measurable terms.

Family income can be defined as money or purchasing power
earned by family members during specific period of time. Plus goods &
services received or created in that time by the family goods like
vegetable from kitchen, garden, services like teaching children , doing
household chores etc. Nickel and Dorsey define income management as a
“ planning ,controlling and evaluating the use of all type of income”. It
purpose is to get greatest satisfaction from the resources on hand.

During rising inflation, lower & middle income groups household
budget suffer a significant blow. With increased cost the household
budget needs to be closely monitored along with yours spending. Many
Indian household struggle to fit everyday items into the housing budget
amid the inflation crises. Rising inflation is a significant causes of
concern & has increased the cost living . In simple terms inflation is an
increases in the price of goods and services. The rise in price result in
decreasing the purchasing power of the consumer.

As the cost of everyday item increases the home budget is affected.
Ultimately, consumers have no choice but to buy less & less. Increases in

public spending, population growth, shortage, trade union etc. Are some
of the causes of inflation. From biscuit & oils to LPG & fuel the cost of
everyday has increased a lot in the past few months the rapid increases in
consumer cost is due to soaring inflation




The global pandemic & Russia & Ukraine war have affected the
supply chain of commodities like crude oil, contributing to inflation. The
family budget provide the family a record of expenditure for future use,
budget is very helpful where there is a scarcity of money, it service as a
financial guide of the family , it can help in development of goods
buymanship.




OBJECTIVES:

1. To identify from which schemes family get pension.

7 To study the distribution of expenditure of the family.

3 To find the most preferred insurance.

4 To study the relationship between expenditure & area.

5 To study the relationship between gender & type of insurance.
6. To study the relationship between saving & area. |

7. To study the relationship between gender & type of pension

STUDY MATERIAL: |

We constructed a questionnaire consisting of different questions
was used to collect information regarding Income of family. The
technique used for thedata collection from income of family by using
convenient sampling scheme. The study area for this project was taken E
purposively in rural and urban area of Maharashtra state. The 172 |
sample size is taken for this study from that 88 from ruralarea and 84 |

from urban area.




TYPE OF DATA:
There are two types of data :

1. Primary Data : Any data that an investigator collects himself
are termed as Primary data. Primary data includes surveys,

observation, questionnaire, interviews. Collection time for primary
data is long.

2. Secondary Data :Data taken from figures collected by others are

termed as Secondary data. Secondary data includes website,
articles, journals, books. Collection time for secondary data is short.

SOURCE OF DATA:

We have collected Primary Data of 2022 —2023. We ‘
constructed a questionnaire consisting of different questions was used to |
collected information regarding the Income and Expenditure of Family.

Questionnaire Link :

http://forms.gle/wYR1f7tuVeVGegegk9




Statistical Tools Used:

eGraphical Representation

oT test
eCorrelation
eZ-test

eProportion

SOFTWARE USED:

e Microsoft World
eMS-Excel

e Google forms

e R-Software
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&% EXPLORATORY DATA ANALYSIS

1. Pie diagram for Distribution of pension:

DISTRIBUTION OF PENSION

M OLD AGE mRETIRED m NO ANY

CONCLUSION :

From the above Pie diagram , we can conclude that, the most of

People about 81% have no any type pension, about 149 of pcople

have old age pension (like Indira Gandhi National Old Age Pension
Scheme (like IGNOAPS etc.), National Pension Scheme (NPS). Pradh

MantriVayaYojana (PMVVY) ) and o
Pension

an
nly 5% ol pcople have retired




, simple Pie diagram tor distribution of expenditure:

Distribution of expenditure

W grossary
M education
m festival

W hospital

other

CONCLUSION:

From the above pie chart , we can observe that the
household spend 58 % money of their income on grossary and only

1% on hospital .




3. pie diagram for distribution of insurance:

Distribution of insurance
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M health
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1 other

CONCLUSION:

From the above pie diagram, we cénclude that, the about 42% of
people have take health insurance and only about 2% ot people
| have take jewellery insurance.
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5. gar diagram for Year wise distribution of income.

Year wise distribution of income
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CONCLUSION:

From the above bar diagram , we can observed that the
annual income of peoples in 2022- 23 is higher than annual
income in 2020-21 and 2021-22.
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ribution of exnenditure

Area wise distribution of expenditure

® rural

H urban

Conclusion:
From the above pie diagram we can conclude that, in the urban
area people spend more money on expenditure as compared to rural ‘

area.
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7 pie diagram for area wise Saving:

Area wise Saving

Conclusion:
From the above pie diagram, we can conclude that, in rural area

people save more money as compared to urban area.
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TESTING
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HYPOTHESIS




. cquality of pr oportion:

uality of proportion of gender w

ylation 1: total number of males who have pension.

pop
ation 2: total numbe

popul

p1: pro
pz:propOffIOH of female who have pension

¢ of females who have pension.

portion of male who have pension

Total
390
460

Pension
14

nl: Sample of total number of males who have pension=390

n2: Sample of total number of females who have pension=460
pl: Sample proportion male who have a pen51on.-—0.0359
p2: Sample proportion female who have a pension.=0.0522
Level of significance =0=5%
Hypothesis :

Hy: P,=P> Against H,: P,#P>
Calculation :  p=br 2Pz
R ni+n2
P=0.0447
4=0.9553

Und
er H, the test statistics 1s,

Z, =P

" on | ]
pxgx|—+
\/ ("1 "2]

T

vho hav

ension
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Calculated value of Z is,
Zo= -1. 1442
Critical value = Zo/2=1.96

CONCLUSION:

Calculated valye Zy is less than the critical value. Hence
we fail to reject H, at 5% level of significance and conclude that , there
is equality in proportion of gender who have pension.




ler who have |

squality of proportion of genc
population |- total number of males who have Insurance.

populat
Pl: proportion of male who have Insurance.

portion of female who have Insurance.

ion 2: total number of females who have Insurance.

p2:pro
Insurance Total
76 390
38 460

11: Sample of total number of males who have pension=390

n2: Sample of total number of females who have pension=460

portion male who have a pension=0.1 949

pl: Sample pro
n=0.0826

p2: Sample proportion female who have a pensio

Level of significance =a=5%

Hypothesis :
Hy: P,=P, Against H,: P\#P2

Calculation : ﬁ~n1p11+n2 P2
ni+n2

P=0.134
4=0.8659

Under H,, the test statistics 1S,
7 »= P

. (l |
pPrgqx 4
\/ ”l ”‘.’

~_ M




Calculated value of Z is,

Zo=4-7859
Critical value= Zas2=1.96

CONCLUSION:

Calculated value Z, is greater than the critical value. Hence we
reject Hoconclude that there is inequality in proportion of gender who
have Insurance.
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[11 .Z- Proportion Test -

A)

To test,

Hy : There 1s 29% of people have insurance. i e Py=0.29

H;: There are greater than 29%people have insurance. i.e Py>0.29
Hypothesis :

Ho : p =po V/S H; :p#po

Observation Table:

Insurance | No. of
person
Yes 71
No 102
The test statistics,
7 =P P _ 3 548063
Podo

n
P-Value:
P-Value=0.0001933754
CONCLUSION:

l Here p value is less than 0.05 then we reject Hy at 5% Level of
| Significance and conclude that there is strong evidence to support the

flltemative hypothesis i.e. there are greater than 29% of people have
Insurance.

————




R-Commands:

>#Significance level

>Alpha=0.05

# enter the sample size , no of success and hypothesized proportion
>n=172

>x=71

>p0=0.29

# calculate the sample proportion and standard error
Phat=x/n

Se=sqrt(p0*(1-p0)/n)

#calculate the test statistics and p-value
>z=(phat-p0)/se

>z

>pval=pnorm(-abs(z))

Pval

Output:

z

[1] 3.548963

Pval

[1]0.0001933754

20




B)

To test,

H, : There is 50% people or less than 50% of people have pension. i.e
Po<= 0.5

H,: 50% people or more than50% of people have no pension. i.e Py>0.5

Hypothesis :

Ho : p =Po V/S H, :p#Dpo
Observation Table:
Insurance | No. of
person
Yes 23
No 149

The test statistics,

7 = PZP0—_9 60741
Podo

n
> pvalue

[1]3.719841e-22 =~ 0
CONCLUSION:

Here p value is les

Significance and conclude
alternative hypothesis i.e. more tan 5

g than 0.05 then we reject Ho at 5% Level of
that there is strong evidence to support the
0% of people have no pension.




R-Command:

>#Segnificance level

>Alpha=0.05

# enter the sample size , no of success and hypothesized proportion
>n=172

>x=23

>p0=0.5

# calculate the sample proportion and standard error
Phat=x/n

Se=sqrt(p0*(1-p0)/n)

#calculate the test statistics and p-value
>z=(phat-p0)/se

>z

>pval=pnorm(-abs(z))

Pval

Output:

>z
[1]-9.60741

>pval
[1]13.719841e-22 =~ 0




x= Expenditure of family
v= Total number of family
e Given:
n=172
e C(Calculation:
Based on sample we calculate
Cov(XY) = 88930.175
o, =365921.7865
o, =2.450945171
r =0.099157892
Testing of Hypothesis ,

Fisher Z- transformation,

Test of Relation between Expen
Number of Family Member.

diture of Family and Tota

H, = There is no- correlation between variable

i.e. Hy:p=0

H,= There is significant difference between two variable

i.e. Hy: p#0




=0.043205702

Level of significance a = 0.05

Tabulated value of z= -1.644853627

CONCLUSION:
Here ,Cal Z > Tab Z

Therefore we reject Hoat 5% level of significance and
conclude that, there is strong evidence to support the alternative
Hypothesis i.e. there is significant relationship between total no. of
family number and expenditure of family.

24




Major Finding :

» Average expenditure by rural and urban area is equal.
» Average saving by rural and urban area is equal.
» There is equality in proportion of gender who have Insurance.

» There is equality in proportion of gender who have Pension.
» There are 29% people have Insurance.

» There are 50% people have Pension.

» The expenditure of family and total number of family can’t
depend on each other.

» In the health and vehicleInsurance the male candidate have more
insurance policies as compared to female candidate.

» The about 42% of people have take health insurance and only
about 2% of people have takejewellary insurance.

» About 58% of people spend money on grocery and only about 1%
of people spend money on hospital.

> The people about 81% have no any type of pension, 14%
people have old age pension and only 5% people have retired
pension.

25
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